B3 5000m 148

b-Y K4 FIF | g |woees| JIENL | FEEX

10 | 4 =& | 2 |h#s FHE\| 1 [16:03.48
3 | Ak ®REE | 1 |z=wm| RER| 2 |16:04. 35
20 Y N 13 2 |emxmmm| 1| 3 [|16:05. 75
O | FH =¥ | 1 |&x—= FEx=| 4 [16:06.06
6 | WIFE BEA| 2 |&&kE| E=E| 5 |16:08.56
2 HE F% 1 |==xws| TTHR| 6 (16:08.97
22 | BEH X 1 |semzs| 22 7 |16:11. 1]
12 | 4l BBE | 1 |s==== 51| 8 |16:16.62
15 (A4t 24| 1 |[@xs g 9 (16:28.10
1 EH MmE 2 |[ERESE|WuO| 10 (16:29.47
16 |fHST fFRE| 1 |eexmms| 0| 11 [16:31.18
) =H E 2 |=maxms| TTER| 12 (16:31.58
8 I\& 5EiE 2 |=mxmm| TIER| 13 [16:32. 58
13 | A & 2 |sexmmm| FE| 14 (16:34. 86
21 | EE WX 1 |=snxzs| THHR | 15 [16:36. 09
17 | v X 2 |sexmmm| FE| 16 (16:36. 24
19 | EB IEE 1 |eexmms| 2E0 | 17 (16:39.10
18 | AT BBE | 1 |====s| 51| 18 |16:39. 64
23 | KB KXF 2 |mmEmm| Z= 19 [16:48. 34
14 | =% BH&E 2 |smxmmm| FE| 20 (16:56.77
25 | sk M3 1 |=exwm| TTER | 21 (17:23.47
28 BE & 1 |sesxs| &3 22 (17:29.05
4 Hph 2= 1 |P#8&E Fa| 23 [17:38.88
11 FE EFE 2 |smxmmm| FE| 24 |17:48.55
7 |[EA $R=E| 1 |[®Bt=E|3=E| 25 |17:49.55
26 | K HEFF 1 |==xws| TEHB | 26 [18:00. 47
27 | Hep  [EF 1 |=exw=| IREAR | 27 [18:51.54
24 Bk = 1 |h#Es /B DNS




B 5000m 2#

b-Y K4 FIF | g |seene| [BSL |EC Bk

7 mE 7 2 |thEE B | 1 [15:19.33
18 | XfE [EE | 1 |@=&|W0O| 2 [15:41.94
8 | Bl HE | 2 |+#s B 3 [15:50.68
6 Efh K 1 |&&ts| =& | 4 [15:52.19
26 Hifn & 1 |#Ex—= #HE| 5 [15:52.40
22 | Wil E#M | 1 |®wx—= #=H=| 6 [15:53.15
16 | SH Big | 1 |xB&&|KBr| 7 |[15:53.23
11 | A R | 1 |=evmms| BEN| 8 |15:54. 69
23 | Ejt 1 |XBR&E| KBR| 9 [15:54.97
29 | HEAR MK | 1 |+#E| 5B | 10 [15:55. 91
24 | 5 H %A 1 |#@=&| il | 11 [15:58. 23
3 | A EE | 2 |=exws| TER| 12 |15:58.36
27 | ER & 1 |xsnxms| BTER | 13 [16:02. 12
21 | %% KiE 1 | XBr&E| KB | 14 [16:07.53
12 | WU 1&F | 1 |==wx=s| JXER| 15 [16:07. 91
14 | o =& 2 |KB&=| KBr| 16 (16:10.80
10 | {5k #E— | 2 |=wvwms| ZBH0| 17 |16:12.13
19 | HE 7 2 |mmxwm| TTEB| 18 [16:13.90
17 | £EH $:I: 2 |XBe&E| KRB | 19 [16:16.35
5 | IBEF mAK | 1 |xems| TRER| 20 (16:20. 11
15 | &£Fff —E 3 |XB&E| KB | 21 [16:21.82
20 | BF Mk | 2 |#x—= #=HE| 22 [16:24.78
90 | RIF BES} | 2 |ssxwws| BHN| 23 [16:29. 46
25 | UK & | 1 |zeexm| = 24 116:35. 24
2 | UE BEER | 1 |=AE|[fEH| 25 [16:37.71
13 | LHg FE{E 1 | XBR&| KB | 26 [16:42.50
4 | FH Bk | 2 |£AE|fEFH| 27 [16:45.01
28 | BF B 2 |KBR&| KB | 28 |16:56.57
1 | BRI BX | 1 |[x=s5| 18k DNS




B3 5000m 3#f

b-Y K4 FIF | g |woees| JIENL | FEEX

5 | A #X | 3 |[¢@s| FHE| 1 [15:09.29
8 |BAlEr FRKER| 1 |»wems| BEAR| 2 [15:35.72
] mE HXK 1 |»wems BEAR| 3 |15:39.01
2 EiD Bt 3 |XB&E| KBR| 4 (15:42.50
6 AR I8 1 |#Ex—8 BWE| b [15:44.62
4 | BFE BE | 1 |XER= KBk| 6 [15:44.81
1M |5k EA| 2 |+#s| EFHE| 7 [15:45.48
13 | AR =X 2 |=snxmm| THER| 8 |15:46.05
22 |&lu BAKER| 1 |XBRE|KBR| 9 |[15:46.08
27 | ¥ /K 1 | KBE&| KB | 10 [15:46. 30
21 | RlU =g 2 |XKB&E| KRB | 11 [15:46. 86
16 | A&t EF | 1 |exems| REF| 12 [15:47.99
10 | A K| 1 |+#s| FHE| 13 [15:48.12
18 | & B | 1 (2= 25| 14 [15:56. 36
15 | {8 BEE | 2 |===ws| BHI| 15 |15:57.23
19 | 2@ &8 3 |XB&E| KBw| 16 [16:03.03
3 | &€F% BE | 2 |£55|1EHFE| 17 [16:04.70
9 o UEZS 1 |»wems BEZAR | 18 [16:06. 38
14 | B EE 1 |eEmms| KB | 19 (16:07. 88
24 | RKlm —7§ 2 |smemm| 3 | 20 [16:12.87
12 | #8 KB 1 |»wems| BEAS | 21 (16:14.13
25 | EH E#; 2 |mmemEs| HE | 22 (16:17.90
20 | @ & 1 |[EAE|fEF | 23 |16:24.43
17 | &8A&< —ib 1 |exems| BR¥P| 24 (16:41. 33
26 | FH ZFEX 1 |mmems| 5E | 25 [17:03.04
1 /T [REE| 2 |=zamzs| 3T 26 (17:03. 41
23 | WO Z&EMt 2 |=mnxms| TTER DNS




5+ 5000m 4#H

. K4 FIF | g |woees| JIENL | FEEX

3 RE EAN 3 |nerems| FE| 1 (15:10. 21
4 RE 1% 2 |mExs|BE| 2 (15:11.00
13 | /NE #HFZF 3 |»memsm| BEAR| 3 [15:15.67
19 | iy KB | 2 |=exws| THER| 4 [15:16.16
2 | % @Ak | 1 |szzs/BFE| 5 [15:17.57
15 ﬁ*ﬂi E 2 |xxsEs| REp| 6 [15:250.82
16 | 8 MEAN 1 |exzes| B | 7 (15:27.71
5 Wil B 3 |#E#=|FE| 8 [15:30.93
17 | B2 =3 3 |»memsm| EEAR| 9 [15:31.67
12 | IUE BH | 2 |x=28% ﬁ. 10 [15:37.45
11 | B AKX | 1 |semms| BH0| 11 [15:39. 61
9 LA ?’ﬁ—l— 3 |smxmmm| F=E| 12 |15:46.79
14 | €£F —i% 2 |ezzEs| REF| 13 |15:47.82
8 =& —F 1 |emxmmm| 50| 14 [15:54. 31
20 | KRFF @1: 1 |ezxsms| KRB | 15 |15:55.90
10 | A4 okl | 2 |=esmms| TR0 | 16 [15:55. 91
21 |[IUT #E—BR| 1 |=swx=s| TLER| 17 [16:00. 71
1 |[IUE EXKBEB| 2 |=swx=s| mHB| 18 [16:26. 15
18 |¥pI& {BAKBEA| 2 |exses REF| 19 [16:35.02
6 mH BAFR 2 |=mER®|IHE| 20 |16:47.45
7 i N 1 |zenxeEs| THER DNS




B 5000m 5%

. K4 FIF | g |woees| JIENL | FEEX

3 | A RX | 2 |2ns|240| 1 |14:54.95
15 |F0AH EFE| 1 |reewws FE| 2 [14:58.75
4 | #A Bt | 1 |2us[25| 3 [15:07.65
1 | BR 2| 2 |XBE=|KBk| 4 [15:15.82
23 | &5 EE | 2 |#x—=s|®=m=| 5 [15:17.03
13 | =H 12| 2 |#x—m=|Fm| 6 [15:17.11
18 | F8 [k 1 |nwems| HEAR| 7 [15:19.55
8 [EiE HMKER| 2 |2hx| 21| 8 [15:20.97
20 | N EfE 1 |#Ex—8|H_E| 9 |15:27.80
16 | ;AlE 5K 1 |heenms| FEE| 10 |15:28. 99
10 | 5 BB | 2 |@m&|ud| 11 |15:30.40
1 BIE &= 1 |esnxms| TEHER | 12 [15:30. 83
6 faor EE 2 |mmmms| KPR | 13 (15:40.44
21 | BE FE | 2 |[sx—=|&;m=| 14 [15:40.97
9 | HHR A | 1 |XE&E|XKBk| 15 [15:44.85
19 | 3% WX | 1 |*2=% 8[| 16 [15:59.56
17 | P& ${Ek 3 |h#im| Fem| 17 [16:13.69
22 | BB BBZEE 1 |xz\=| 2| 18 |16:17.99
2 | 1K EFEAX | 2 |wmems|EE | 19 [16:45.75
b | H%=E Bth | 1 |sxreEm| FE DNS

] I 3 |umems| HE DNS

12 | AF &EA | 3 |xz8% {8F DNF

14 | AR FH | 1 |x=85| (& DNF




BF 5000m 6%

b=y K4 FIF | g |woees| JIENL | FEEX

16 | BB %t | 3 |s=zzs|1FE| 1 [14:47.15
19 | H | 2 |mm=|uO| 2 (14:48.18
17 | B@A & A | 1 |#zzs/15FE| 3 [14:58.16
20 | B8 FIRk 3 |#mE#®|IFE| 4 [15:05.38
12 | 48 R 3 |rreams| FEE| 5 [15:07.22
11 [ @&2E K| 1 |esws|#E| 6 [15:08.03
3 | FHK K| 2 |=exms|RER| 7 |15:09.82
2 HE EE3 1 |(#=Ex=|1FE| 8 |15:10.87
7 | Wk RVt | 3 |xBs|KEk| 9 |15:11.86
O | IRES HE | 2 &&= ZER| 10 [15:11.97
15 | B2 RE| 2 |+&&|#HB| 11 [15:15.10
18 | BB $E | 3 |#===|1ZE| 12 [15:19.35
1 B st 3 |KER=E| KBx| 13 |15:24. 61
21 | WuA Bk | 1 (&&= =E| 14 |15:26.96
6 AR T 3 |XB&E| KB | 15 [15:27.66
23 | R ME | 2 |hwE| S| 16 [15:28.48
13 | PO BEM | 3 [semxm| | 17 [15:33.72
14 | A K| 3 [x===/7E@ | 18 [15:35.18
b | A EIB | 1 |mmswms| KE| 19 [15:45. 91
4 | thig FIP | 3 |=ewzs| T 20 |15:51.58
10 | KB5 hEe | 1 |#%&4&s|=#ER| 21 [16:06.96
8 | HEAMk =E | 1 |&&E|=E| 22 (16:10.29
22 | KB 2 |aeeess| FIE DNS




B3 5000m 7#

. K4 FIF | g |woees| JIENL | FEEX

11 | {£B %K | 2 |(2ns| 25| 1 (14:37.06
14 | 8B #HhE 1 |x#=% f&ahkfl| 2 [14:53.81
19 | Al EX 1 |exszs| B¥p| 3 (14:57.15
12 | BE Z# | 1 |2ns| 25| 4 (15:00.18
16 | 1FMA EE | 1 [xz=s{@| 5 [15:00.44
10 | bt KZE | 3 (255|183 6 [15:04. 11
24 | Hl mE 2 |smxmws| TN | 7 |15:08.00
5 |chf§ BTER 2 |wsws|EE| 8 [15:08.08
21 | A pE} | 1 |exses| BEEF| 9 [15:10.99
8 e fE 1 |esnxms| TEHER| 10 [15:11.19
17 | &€ &3 1 |ezxsms| B | 11 (10:12. 44
18 NMErE & 2 |=maxms| THER| 12 [15:14.67
6 x& 1E3 1 |wsnxms) TWEB| 13 |15:15. 91
22 | BFT —E 1 |wsnxms| THHEB | 14 [15:16. 30
25 | #RK BEER | 2 |ewwws TH1| 15 [15:17.57
3 A X2 2 |sexmmm| FE| 16 |15:18.7]
2 | xH —HE | 2 |seses| T 17 |15:23.24
13 AT &E 1 |EA=E|EH| 18 |15:26. 37
20 | /MR EE 2 |exeEm| BRBF| 19 [15:26.98
26 | A[iE %?’E‘ 2 |sexmmm| FE| 20 (15:28. 66
4 | S WE | 2 |s==ws| BAH| 21 |15:34.20
1 | KIE FEE | 3 |=exmmm| 1| 22 [15:34.38
27 | AE ElIE 2 |emxemm| TE| 23 |15:37. 31
23 | B% RAth 3 |zmnxms| THER| 24 (15:37.58
] AR ZE 2 |msnxmm| TRER| 25 |15:52. 87
9 FH & 1 |mmsEs| KRR DNS

15 | 5y@H §EE 1 |*x28%| 15 DNS




5+ 5000m 8#H

. K4 FIF | g |woees| JIENL | FEEX

15 | A &#&% | 1 |\==uO| 1 |14:38. 31
b |{EfE FKERA| 2 |»memsm| BEA| 2 [14:45.86
16 | =H#H A | 1 |[s=s=|BE| 3 [14:49.93
20 | UK EE 3 |x=m%|tEM| 4 [(14:51.14
19 | 2 %= 1 |neeums) FEE| 5 |14:51.46
13 | hiEF EX 2 |#mE#®|IHE| 6 [14:53.39
2 E e 2 |neenms| FEE| 7 (14:53.76
12 | £¥ b= 3 |neenms| FEE| 8 [14:55. 37
14 | ZH BE | 2 |@m&|uBl| 9 |14:58.86
17 | ] [EA 2 |=mE#®m|FHE| 10 |15:08. 57
11 | /b FIK 2 |#Exm|{E| 11 |15:14.07
9 it == 2 |»mems| BBEAS | 12 [15:15.54
4 | ¥H BE | 2 |u=e=s;FE | 13 [15:17.48
1 AR & 2 |smemm| E | 14 (15:18. 26
1 AR FEX 1 |msnxms| THHEB | 15 [15:19. 49
8 2582 2 |zmnxmm| THER| 16 (15:34.14
10 | 88 k& 3 |mesxmm| TWER | 17 |15:39. 65
18 | 8B &F¥E | 2 |&@==|u0A| 18 [16:02.05
3 | RJII #JE | 2 |u=ems| HE DNS

6 | BER BA| 2 |s=ms| gE DNS




BF 5000m 9%A
b=y K4 FIF | g |woees| JIENL | FEEX
9 IND  1BhE 3 |reenma| FEE| 1 [14:26. 27
10 | B %k | 3 [#===|13E| 2 [14:26.74
17 B R 2 |»wemm| HEAR| 3 (14:27.16
12 | EF X 3 |»memm| BEAR| 4 (14:27. 82
14 | K ZBX 2 |nwemm| BEA| 5 (14:29.09
24 T &S0 2 |#mx—® HE| 6 [14:34.83
3 il BFE 2 |=mnxmm| THER| 7 (14:38. 60
15 | B BE| 1 |szxs/B5FE| 8 [14:47.59
13 | 548 IEfE 2 |nwemm| BEAR| 9 (14:47.77
18 | A {F8% | 2 |semzm| 2 10 [14:50. 73
1 MNE EIR 3 |nmems| BEA| 11 (14:51.72
6 | Fim &K | 1 |exzes| EE| 12 |14:54. 21
19 | [FH BE | 1 |=ew=== 51| 13 [14:54.25
11 | 5BH =& | 2 |#====15FE| 14 [14:56.05
4 ERN RE 2 |wxsEm| REF| 15 |14:56.50
5 |&RE EKXER| 3 |sxees| BEF| 16 [14:57.15
8 |#H FEXRER| 3 |exsms| REF| 17 [14:59.35
20 |[IUAR EEZzqr| 3 |e=x=ms| 41| 18 [15:00. 32
7 | IR it | 3 |exzes| REF| 19 |15:11.46
23 | 85K OONE | 2 |eerwws| BN 20 [15:14. 21
2 BAR & 3 |=mnxmm| TWER| 21 |15:23.13
21 | /M) M 1 |emxmms| B | 22 [15:32. 87
16 =25 & 2 |zmEmm| I 23 [15:43. 52
22 | B EH 1 |emxmms| 50| 24 [15:46. 47




B+ 5000m 10#A

b=y K4 FIF | g |woees| JIENL | FEEX

1 |8& BB 2 |xz=s|E@E| 1 [14:09.57
11 | B Kk | 2 |exees| BREF| 2 [14:11.93
8 | BBy —im | 1 |»wems| BEA| 3 |14:15.68
1 |z EBEE | 3 |XBRE| KBR| 4 [14:16.40
21 KA B 3 |nmem=| BEAR| 5 |14:18.19
4 M BEIE 3 |XBR&E| KBR| 6 |[14:25.27
3 | A& wmEe | 3 [xz==|fEE| 7 [14:26.34
19 | fEitt —% 2 |BlE| =& 8 (14:29.32
20 | #BT Kk | 2 |2uE|=HE| 9 [14:32.14
13 | EA2K B | 1 |wxees| BE| 10 [14:34.57
9 | FM HE | 2 |w==s| EF| 11 [14:36.79
22 | WO @ | 2 |xz=s| i8R | 12 |14:37.12
16 | Fx [ES 3 |XB&E| KB | 13 (14:39. 71
15 | Ik TR | 2 |exsms| K5 | 14 [14:45.47
2 [ 1&X 3 |KBE| KBR| 15 |14:46.96
6 | A& B | 3 |[x===|f=m@ | 16 |[14:50.98
10 | /it FiF | 3 |exses| BEEF| 17 [14:53.28
) ik ThE 3 |x%#=m| t&M | 18 [14:55.88
18 | k3 &EBF | 2 |®&&E|=E| 19 (14:57.24
23 ¥Rt FEEEIK| 2 |&idtE| =ER| 20 |14:57.40
17 |R& F&{ZEA| 2 |=»wxws| TTER| 21 [15:06. 85
14 | I thik | 1 |exsms| KB | 22 |15:08. 21
12 | =k B | 2 |===s=m REF DNS




